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Section-I \
Give answer of any two of the following :
i in India. 20

{.  What does economic planning mean ? Examine failures 0

2 Wacm avour and against
20

2.  What does Privatization me

Privatisation.

Discus ernment Financial relations. 20

is policy of the Government of India to Control Price Rise. 20
Section-I1

10

5 Give answer of any five from the following :

(1) Planning Commission in India was constituted in the year

@ 1950 (b) 1951

(c) 1947 (d) 1991

(2) Thoisthe chairperson of NITI Aayog ?

(@) Prime Minster ‘(b) 'President”

(c) Vice-President (d) Finance Minis.ter



ich of the following is not an objective of India’s economic planning ?

3 .
B }h (b) Reduction in poverty

@) Population growth

(c) Employment generation (d) Industrial growth

(2) The issue which is not included in economic reforms from 1991 is
(b) Urbanisation

a) Privatisation
(d) Globalization

(¢) Liberalisation
How many components are of economic reforms ?
() 3
d 5

@ 2
(c) 4

®

/(6) Main effect of globalization is felt in

Agriculture (b)

in the, S ?
(a) Health (b) Judiciary
(¢ D e (d) Police
olfl £ indhce system, subsidy means

(b) Stipulated grant
(d) Welfare grant

(c) Public

(7).. Which of the following is

Development grant

conditional grant

) The impact of a rise in price level is that the real wages are

(a) Uncertain (b) Constant

(c) Increase (d) Decrease

( 19) Price rise in recent years in India has been primarily caused by

(a) Increase in global prices
(b) Increase in consumption

(c) Stagnation in agricultural production
() All of these
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